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List all pairs of congruent angles for the figures. Then write the ratios of
the corresponding sides in g statement of proporfionality.
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Determine whether the polygons are simifar. If theay are, write g similarity
statement and find the scalte factor '
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Quadrilateral KLMN ~ guadriiateral WXvYZ. L
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Find all possible values of x in the similar triangles.
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18, ACDE ~ AFGH
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in the diagram, A JKL ~ ARST. The perimeter of /A JK!; is 94.5 centimeters
and the perimeter of ARST is 54 centimeters. 7 @ ;
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Use the given informatinn to find the
GIVEN: ACDX ~ LHGNZ, thb
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Find the perimeter of 2 GNZ, A\
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